Installation manual Model: Opel Astra ] Skid plate for: engine bay and transmission case|

Atticle: 16.1323

WWW.KARTER.RUEW Body type: H,G l Years: 1998-2004-

l Engine type: 1,2;1,41,6:1,8;2,0; 1,7d;1,9¢;2,0d

Engine bay and transmission elements skid plate has been designed and manufactured by LLC Metalloprodukisia
Product conforms to TOR 4591-001-25888788-2006 requirements. Product design is protected by model copyright
certficates Ne89059, 15980, 15981, 15982, 15983 Patented in Russian Federation.

[APPLICATION:

deformation.

INSTALLATION:
Engine bay and transmission elements skid plate has been designed particularly for a certain vehicle. It should be
The skid

plate

INSTALLATION MAN!

1.Remove O duster.

frame.
3 Fix the skid plate tomounted bolls s front -(A).
4.

-(8).
M 10x80 and threaded inserts. Make small apertures in

5; partof
plastic duster forthat -(C).
6.Tighten allscrew oins.

[OPERATING CONDITIONS:

Engine bay and transmission elements skid plate has been designed to operate in conditions specified by vehicle's
producer.
crush it is necessary to assure in absence of damages of vehicle's components and units and availabilty of
roadworthiness on certfied service stations,

Warranty period -1 year.

WARRANTY TERMS
“The skid plate should be installed on a vehicle with undamaged body and load-bearing elements (vehicle, which hads
neverbeeninvolvedin road trafficaccident);
There are no mechanical damages of the skid plate resulting from head-on crush. Al requirements to skid plate
installaion should be safisfied;

no mechanical damages of powder coating
Producer labilty for d 4 to the vehicle, health and lfe of people in case of installation and

% The Quality Management System of LLC Metalloprodukisia has been audited by Bureau Veritas Certification
) and conforms to requirements of the SO 9001:2008 standard.

LIST OF PARTS

NAME

Special bolt

Bolt M 10x30

‘Threaded insert

Bolt M 10x80

Threaded insert

NutM 10

Washer 10

M6x1.0

M8x125 | Mi0xi5

[wizxizs

Throad
Tightening torque |

9.8 Hu

240Hu | 470Hw

810 Hu




